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1. Answer the following as directed : 1x8=8

(a) Who is the author of the book, The
Principles of Educational Sociology?

(b) Phenomenology comes from the
word ‘phenomenon’.
P (Fill in the blank)

(c) One type of social mobility is horizontal
mobility. What is the other type?

(d) “The destiny of India is being shaped
in her classroom.” Whose statement
is this?
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(2)

(¢} Mention one factor influencing
economic development of a nation.

(7 The word ‘culture’ has been derived
from the Latin word ____.
(Fill in the blank)

(g) Give one characteristic of socialism.

(h} Who made the following statement?
“Education of boy is the education of
one pe’i‘son, but education of girl is the
education of the entire family.”

2. Write short notes on the following : 4x5=20
(a) Consensus theory |
(b) Assimilation

(c) Role of education in community
: development

(d) Impact of socialism on education

(e) Four ways of reducing inequality of
opportunity in education

3. What is sociology? Write about the
- differences between sociology  and
educational sociology. 3+7=10
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7.

(3)

Explain the importance of national

integration. What can the school do to

achieve and improve national integration

among students? 5+5=10
Or

Write about the need and importance of

education and modernization. 5+5=10

What is social change? Discuss two factors of

social change. | . 2+4+4=10
Or

What is economic development? Write

about the importance of education as an
instrument of economic growth. 2+8=10

What is democracy? Discuss some ways for
achieving the ideals of democracy through
education. ’ 3+8=11

What is social disorganization? Write about

the remedial measures for control of social

disorganization. 3+8=11
Or

Who are considered as socially "and
economically disadvantaged section of the
society? What steps can be taken to solve the
problems of education of this section of the
society? 3+8=11
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